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QUESTIONS (100 points)
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1. What do we learn about Pat Craig in paragraph I?
PG i)  Why he likes lions and tigers.

.‘-':.‘.‘J}Js‘ @ What he did when he was 19 years old.
e iii) How he heard about the large animals.
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(RraN Where it is.

AN 1) How many ammals live in it.
A

RN iii) How large it is.
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What does Craig do today? (paragraph II)
Answeg: _Craig works as the head of

the U.S.A.
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Why were they sick? Give TWO reasons.
Their cages were often dirty
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Reason ONE:
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Reason TWO: . There was very little food.....
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Answer questions 1-10 in English according to the text. In questions 1, 2, 6, 8 and 9, circle the
number of the correct answer. In the other questions, follow the instructions.

(9 points)

2.  What do we know about Craig's first animal shelter? (paragraph I)

(9 points)

4. "Many of the ammals were sick when they came to the shelter.” (hne 14)

(2x8=18 points)

Why can't the crganization save all the animals that it would like to? (parazraph IIT)
Because the organization's activities cost a lot of money.

(9 points)
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